P2? @ Chhski (Diiq ) 06.07.09

== ﬂé}e.,ga"éw.j@
4) < - g 17 Zqﬁw«, QM/I{/W,,G,/ o
| 9 (o forue ( b @000 F ~ e/// /ﬂg[j

§: 2&: X Ko O/,/ﬂ/(féﬁﬁ,i

\)

AR Uit LA AP
) %0

_ ”m%i"l;«ﬁ«m[
dppr 085 UL

[ﬁ—27\«\/m, ; p/{ W
2 Q

= 36
(75‘(4 01§/ O ASH - oﬂ«
— 7 b1
A [@MS AT AR LN
1-4& = 0(35_ = J- =2 = 0(3}{

= ED(O(\«» (' O(Zé}







= 1,36
ra~—m 5
T 20(3%

=> .. D W= 36 0F

/('Q n= 9% zé% oA l(/_/,\ 402[5%. (/94,,(;&/ [C:M%L;Z



—

a) (—'[o /4 = {0 Versq s éﬂ /« 4 10
—_— X - 0 11, F -0

) r. R i

— 20(3%_ - 1,56

= (T/: ¢ >186= 2, «

2

=7 /Yi[b (/&’u/eroém wa o

f(jn?%f//wz Mr‘;é‘% & =008



